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GROUP-A

sS4

For each question given below four answers are given. Oul of four
only one answer is correcl. Select the correct anstuer. 1x10=10

oo 2ifScs! e sIRGICE Bad 731 ©iicr | BIRDIY [609@ g qhice oo e/ &%
Gawor Wk Gleasw

Tess 2ISf asta 6115 wea G (re ) SR [Sogt Mg 953 oo Bed

o5 GGl (g TG/ ]

1. What happens when dilule hydrochloric acid is added Lo iron

~ filings ? 1
& 9% @fom aig Pysle aes @M ofde e i @2

Y oY YR Spifirea A Egd @6 a9l v ©dq [ 9 e

(@) Hydrogen gas and iron chloride are produced.

FBG TG (518 S (%A $IRG T T |
FACGICSH S G3S SII GFIRIRG Seds 27|

(b) Chlorine gas and iron hydroxide arc produccd.
TR (IR W B3I PRYARC Terld 2 |
I ST R A QRGINRG O B |

B17-GS (EN/AS/BN) [2]
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(c) No rcaction takes place.
faf&man saeB |
Ri&w 9%

(d) lron sall and water are produced.
%A 7] TS A Seom 27|

T T 3L GE LA T |

9

treating indigestion ?
TEIfor BiFein A voa @ @ Gaq IR TG T2

TGfor B o FEe @ @eR €3¢ I S 2

(a) Antibiotic.
O oo |
oGS |

(b) Analgesic.
AUl |
QA |

B17-GS (EN/AS/BN) [3] . Cor
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Which one of the following types of medicines is uscd fo:

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

(c) Antacid.
TIE(%[<E |

ETHMSE |
(d) Antiscplic.

NG |
afocefo |

. Which of the following metals recacts vigorously with oxygen ?

1
T Al 70 A9raEE @0 4T SiEinEea sste SEelE [l we e
frare drgerar g @om e wfiark At Sketw fAfaur @
(a) Na
(b) Fe

(c) Cu

(d) Ag

317-GS (EN/AS/BN) [4]
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p"l

An alom has eleclronic configuration 2, 8, 7. To which of
following clements would it be chemically, similar? (ato

numbers are given in the parenthescs).

B! R TERAR R XA 2, 8, 11 e CNEERA (IR |
2T <PIARRS A R 2 (IFA foowe AR AR 7 1

@l ~ea s faE e 2. 8, 71 ficwre cimer
@R F A IR A AR 2 (qFR [oora oAl 7y
(AT FCACR) -

(@ NI(7)
(b) FI(9)
(¢ 'P(15)

(d) Ar(18)

low many clectrons will contribule in onc sccond in ca

onc micro-amperc of current ?

G SR AATR Rjeeiz 17 (AR AE G (e [/t A8 &

pifFe T4 =ifsa?

B17-GS (EN/AS/BN) [5]
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9T TMIF2AF [Afjeerz T ISTF G 9F CIE0e S FRAE
EDL bIfeTe RET ARIIGH ?

(@) 6-25x 1015
(b) 6:25x% 109
(c) 625x10!2

(d) 6-25x 106

Ozone, at the higher levels of the almosphere, prevents
1

IFIGTR TH F9© TGl - 14t frm
IS THI ST (4 (7Y

fa) infra-red radiations
rREiEe Iy
SRS af¥)

(b) visible light

TN (o5

IR S

GS (EN/AS/BN) 6]
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(c) UV radiations
sfocagta f
sfoad! af

(d) both (a) and (c)

(@) S (c) LI
(a) 9% (c) 1vR

7. Which of the following is not a renewa_ble source of cner

OF (PO A9 *iferq Tex w%A 2
e @D aaEe «fea T Ja12

(@ sun

317-GS (EN/AS/BN) [71] : ' C
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(c) fossil fuel
GRIETS o

CTRIMIRES e

(d) waler

3. The enzyme which converts starch Lo simplc sug

CSARS HE (5t Fotras vt @amwtm&a ™ T —
CHOANT =1 DS Wity w1 S<emwala am 3 —
(@) amylasc

GG

RS
(b) lipasc

ARG

BTkl
7-GS (EN/AS/I3N) [8]
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(c)] pecpsin
¢sieifon

(A9

(d) Lrypsin
fG=tfomT
gt

9. The hormone which causcs willing of lcaves is

R 7ERN MR 2R A AT AR @ —
@ =sfiera eI Sitgd 2iel I AT —
(@) Auxin

GiEg
wf3e

(b) Gibbcrellin
R
feiafEm

B17-GS (EN/AS/I3N) [9]
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(c) Abscisic acid
G355 «fee
SRR @ifTe

(d) Cytokinin
512

10. Human originated in —
W Gesife tafee —
s esife Zrafee —

(a) Asia
foars
africe

(b) Alfrica:
) O]
HIFIICS

(c) Australia
s lerare
NUSTGHIAS

(d) Europe
28RS
BB@EM

I17-Gs (EN/AS/BN) [10]
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| 1. Write a chemical equation Lo show the rcaction between Plaster

—
-
I

GROUP - B
<-sisl

of Paris and Waler. 1

2B B (AR TRE A Se R @idte 961 IPTRfRs e
BRIl

PO o ANET G TR Wd Rl @i G 9alo aEiaies
:rl?hrsicl et |

Which of the following belongs to the samc homologous scries ?
]

v e fal (EFER 9@ ANSITE (e Sresfe 2
G @Rt O3 SESITY (T Sresfe ?

Cgf']g. C4I'Ig. C.QI'IG, Cgf‘fg

In Mendel's experiment with tall and dwarl pea plants, whicl

[cature is dominant ? I
CASET ARG JES 6 SIS B9 W09 Z SN (FWCH! ST A

CISEE ATV S T 98 (305 SIS (@ e Aerdly

1317-GS (EN/AS/BN) ' [11] “Con
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14. What arc the (wo types of peripheral nerves ? 1
43 dalaq A Y 2
4 datd AIGm Wy e

15, How the life of the filament of an cleetric bulb is prolonged ?

1
fifes dlead fesfirBe Slamael MaeTl @@ wal 2

e ditsad REondy Slaer FIona ASIEH =0 2

16. Takc 2g of calcium oxide in a beaker. Slowly add water to it.
Answer the following —
AUl fdantae 2g aEam SRS @R )| REMoS #ieg a2 s 49 |
wofy (e Teq as —
@l i 2g b wmize we | ¢itts fa fr g ke @@
Ficareswin Tea qie —
" () What will be the change of tempcrature ? 1
THseld (@H RS afb e
Tasely f@ ifasa Toeae
1) .
|. 17-GS (EN/AS/BN) - [12]
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SE—
~

(i) Wrile the balanced chemical rcaction for the above
stalement. 1

eoigq Ui aﬁ Fefers IPTIRE AMaRe H |

CoranG By qafd Tereteyl apmfs wiikead @

Or / 7341 ] G121

Identify the substance that is oxidised and the substance that
Is reduced in the lollowing Ltwo reaclions :

weid [aferar yore wifte O Raike o smo g 2k Sk
ficare ffEm qitte aiffc g [enfis et sy @g e

(i)  4Na(s)+0,(g) — 2Na,0(s) | 1

(i)  CuO(s)+I,(g) — Cu(s)+ I11,0(l) 1

Wrile balanced cquations with state symbols for the following
reactions

weld [l@iaa 9@ Sazl o w7 it siefers @pife aiflese FHa

lsire fafermare oo syl B 9l w@ Ameisd srmmfe Tieae
(w16 '

Solution ol barium chloride and sodium sulphate in waler
react to give insoluble barium sulphale and solution ol sodium
chiloride, . 2

117-GS (1EN/AS/BN) [13] Contel.
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et

AR TS S BfeAM QErsd wed wed were fafa off STHy
@ SEEs GG BSam F4Red ' UEe |

@ ERES 4 GHEa FTEsd T ydeR Ty fafem 2 Swr
s ARTED Gas Gl GFRAReY 996l HES T
Or / 7291 / @41

Sodium hydroxide solution (in water) reacts with hydrochloric

acid solution (in waler) to produce sodium chloride solution

and waler.

wfeam 3G HEEa 7@ (Ae) 23g FRE qfges g1 (A1) e Rie
>R 2o #4122 5 S Al Seof |

A 2iRgHEncy wad (Se) RGEFIRE SHibied qarda (Ece) Fo
fiferm s CfSam @Ridey Gad «3g el BesfE I |

18. You arc given (wo solutions A and 3. The pll of solution A is
3 and pll of the solution I3 is 8. Which solution has more
hydrogcen ion concentration ? Which of these solutions is acidic
and which onc is basic ? ' 2
(SIS 4061 @ A I B i 211 %39 AQ pl1a M 3 &% % B pHI
A 8 | (D TS YRG TEA SRR SIGSl (A7 T4 2 (@F! 53 SN i
(PITCH! *aPIT ?

Y7-
B17-GS (EN/AS/BN) [14]
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ot 46 @4 A 3 B (wedl (e | T3 A-99 pH-IF 5 3 @R &<
B-q4 pH-F 5 8 | (P TReIBrS ZRCGICe SIHCT Aol (A4 237 (P
waelfs SfEa G492 (PG FIahE ¢

| 19. Wrile the technique of tissue culture used by the plant breeders

Cfen IS S AR T PR (I T |

Sfen eomIal 99 9 el P @ G | -

Or / 71231 [ {41

Describe the process of fission in unicellular organisms.

Q) Ea Rotem siafe 3l w1

W] GIAA Reiee smfs I i |
| 0. (t) Why does an asironaut sece sky colour as black instcad
ol bluc? C I

ULIHTIBIT G SR 1% e 2R Fe ord e
G| STEBHBIAT SPINE J8 [T “ARAS il (e & ¢

1317-GS (IXN/AS/I3N) [15] Conld.
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(b)

Draw a diagram to show angle of deviation during

refraction of light through a triangular glass prism. 1

fergeer 2l ferersma e (o1 eifsiaeta e Bl cufdl Rpifs
G} T |

fagerem am Rrerm v o i afomer T Setm ze
fpfs @ <icor |

21. (a) If{rclocity of light in a medium is 2 x 108m/s, what is the
refraclive index of the medium ? 1
qf ‘-THTSI GOrS (olIZR WS 2 x 108m ofS (xrere =@, WM
GIISHEG ICER
3 @B T e @t A ereee 2 x 108m %@, S
Azl o0

(b) Deline 1 dioptre of power of a lens. . ]
(MR 99 1 CRI¥6[ FeR 7kw )
9Bl -G 1 TR weR @ wie |

B17-GS (EN/AS/BN) - [16]
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Ilow docs solenoid bechave like a magnet ? Explain with diagram.

2
bERIRTE (AT AR WA W69 a2 fourd Ry it 3
CHAIHT RSN FARE T© (G674 I3 2 Braa Iy g 6l |
(1) What is clectromagnetic induction ? 1

[Agipada S 52

[AgIpaPIa SN F2

(1 Wrile the principal diflerence between AC gencrator and

DC generalor.  http:/www.assamboard.com 1
A48 2Rz (SR S SROrF 2RI (WAL S 6 A1
feral

Ala408) (4476 Beolina QAR @99 [A97e Tesimraa 2um sfefay @l |

7- S (IKSN/AS/BN) [17] Contd,

http://www.assamboard.com

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

24. Two elements A and B have atomic number 12 and

respectively.
90l GTEl A W6 B 2IReRe k1 I 12 i 17,

Al GNel A 3 B-a9 #{RER™E 2 A 12 @1 17,
() Wrile the electronic configuration of A and B.
A Y% B3 RGN fampmt fow g
A GR B-93 EPGAE R el |
(i) Which type of bond A and B will form ?

A TS BI TS (T A0 IAHW 754 42

wod pieoquuesse mmm//:dny

A G B-d WG F AFEE 9 1o A2

(iii) Write the formula of the compound formed by A and]

A S% BT &S 599 Q[0 (TI00R AT F4 |
- A G B-93 Wy sife (@6ifta Sirs @R

B17-GS (EN/AS/BN) 18]
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Or / 733 / 913

() Which element has two shells, both of which are completely

filled with clectrons ? 1
(HTCO! CTIET VEiB] 5% e o2

(< T Tfo 7% Brerelaeyel 2

(i) Which clement has eleclronic configuration 2.8.3 ?

(RO (TR g i 2.8.3 2

@ GeTR @Y /g 2.8.3 7

(tii} - Which element has a total of threc shells with four

cvleetrons in the valence shell ? _ . 1

CHIIDI (TR Q@Iers @S GIG ZERGEE (ice o fofinl @

(A4

(el G (arsrs a5k bR 3=ana w12 (G foafe @ @iy

-I'/ GS (1EN/AS/BN) [19] | Contd.
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25. Draw a labelled diagram of longitudinal section of an ideal

flower. 3

&ft sl g Ado] Hize ba o
a5 s e TR e ba i |

Or / 341 / \%4q!

Draw a labelled diagram of female reproductive syslem 0

- human. 3

IR Rea mamiﬁ&—wmwﬁmy

TEa B wAerR 9 iz foa e

wod pieoquuesse mmm//:dny

Do
(0))

. What is reflex ? Why reflex arc developed in animals ? Wri

the components of a reflex arc. 1+1+1=

o8] Tl & 2 21T 2SI« o 4% T2 @S9l w e falSn SeAm 7
A =

o) Rl e 21T oMot 4 (@A 4B TaEwg? w6 @@ fHfen Tl
SFERA A (e |

B17-GS (EN/AS/BN) [20]
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=

Or / 73T / G

Wrile the functions of adrenaline hormone. | 3

AfGrfem 'R w1 7R &
wilfgifAn ZaeeER SROEE @l |

lixplain how scx is determined in man. 3
Aj%a fomr Ndiael 76 W @ it 4t
Al fom fdiad FIeil @ TR @

Or / 23 / w4

What are the factors of speciation ? Illustrale with example.
1+2=3
Y10\ SRPER SHIZINT 00 [ 9 |

YarllwadieRt SRAVGT GViZad 7T JY IET |

l.xpliin what are the components of an ecosystem ? Mention
one non-blodegradable waste we generate. 2+1=3

MMles wee SAmE Retrs & & e o @ 3R w1 Sk wfifim
il b1 Srar < | |

vl oo SAMASTE 1 PG | SNGE 8 G (S-SfZaslit
VI SRl 9El |

/G {IKN/AS/I3N) [21] Comlrl.'
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Or / 7Z41 / G13d1

What is trophic level ?- Describe the trophic levels of a fo
chain - 1+42:

C{;ﬁ% & ﬁ?') W ﬂ\ﬂa Lﬂm (9!—]% &g F{SI.{ ﬂclr{ <‘-"_(’ |

s q F? GFO WHRAER (NS B3 @@l gl )

29_. What are fossil fuels ? Mention one disadvantage ol burnir
such fuels. 2+1-
GTRIGETS “:lrrﬁ?ﬂas % » G3RE TaR W TS 2 ZHISEIRtAACTE
9 | |
G GIFRFISTE B2 G QRN w2 F0E S5 : 27 9 SEfa
Tl I |

30. What is ijdall elfect ? Mention the colour of light scalterc
most when white light passes through a medium of particle:
of very fine size. 2+1=!

- fovem AREs e welitsiizg Sfesprael 41 TiaER TTET Y@ (2 i
(PR SN (IR SbiRecs @ [y 29 Srze &
OaCH o 12 M A &7 SIERE SIS SPEFN AR WL S04y 70 I
R, (Pl STRMCNA T FAAE @R [JiEd 2@ T sl
B17-GS (EN/AS/BN) - [22]
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Electric heaters designed to be used on a 220V electric supply
line are rated as 11W. If Lhe maximum supply current is 5A
how rnany electric heaters can be connected in parallel with
each other across 220V supply line ? How much Llotal-energy

is consumed by these in 20 minutes ? | - 2+1=3

11W 3 Bz tagifes Rom oo 220VWWWWW

Tarm | 4% B #11 ACHIT #A1E 5A 7F, Rl tapfes o sieakTeE

220V =IZE oS A R wmwzoﬁﬁ%ﬂj%m#%m
79?2 -

11W-q B ot tapfes BB 220V atE IQE o). (o
2eace | 37 Bt (A i 81 5A T, Tl Lo Rbm e
220V FRER A AN I3 IR @32 20 NG ¢ T =fe oa 2we

32. (@ What happens when sodium metal is added to ethanol ?
Write the éhemical equation for the reaction. 2

-32;1:;6@ aﬁaﬁm gy A9 FRcE & w62 RieidR ety

Wﬁmﬁw Byl |

BANEE A GIfSAN S mﬂwﬁﬂﬁvﬁﬁmﬁamﬁa
Wﬁwqml |

B17-GS (EN/AS/BN) (231 . L Contd.
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(b) What is hydrogenatlion rcaction ? Give one cxample, -

QNG T [fen e « by Swrg fran

g [{iEw §7 9@b Sargae wie |

(¢) Write the formula and clectron dotl struclure o

cyclopentanc.
BRI LATETS ALIFS ARE LA 3 5iom o1l |
ABHATTTGE ALTS G LFFGA [ 5161 (@Rl |

Or / 34l / |4t

(@) How will you distinguish cxpcrimanaliy between an alcoh

wod pieoquuesse mmm//:dny

and a carboxylic acid ? Give chemical equation.

AR TLAS ATREE T IR afged A Al
- YAR? AERES w9

ATVE A SHE@RE Gae IS Shfrsd g ~14E) FISlG
w2lrd 2 ArafeE Aaead @Rl

317-GS (EN/AS/BN) [24]
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1

* (b) How many structural isomers can you draw [or butane
(C4H0) ? Write their names. 2
Ao (CqH o) AR FE70Y 167 e <hifea iife= 2 st am
farel | o
8o (CqH0)~97 &) FAM 5+ FCAE RCe AR ¢ 2rsyaity
5T C=icHl)

(¢) Draw the structure ol bromopecntanc. 1
AACTR o157 B i |
@TCATHS o1ew foa <hict |

{a) Give the name of a _rnetal which is liquid al room
iemperature. . 1
AR TErors GEEl TRZ© 3! 4y @B AN R
YR T T SRS AT GF0 4IGT A @Al |

(b) Distinguish between mineral and orc giving one example.
AT O SFa AN by Trized AR il
YT GR SR AL G0 SWREe] T (Al

17-GS (EN/AS/BN) | [25] | | _Conldl.
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\ |
(c) A student took sulphur powder on a spatula and hcaicd
il. Ile collected the gas cvolved by inverting a test tu
over it.

QT B B WS FEEE GfS (6 Ted wfeE | @bt 2R
(STBIR eolge Srehits 4R [sfe @@l (o=l kuz +feE |
G QT BRI AT Erol [l Sed F40E | (1 9B AqE
ST Boica 0! F(d «ta oS 287 sy ey @seedl | -

A. Wrile the balanced chemical equalion for the reactio
taking place.

#afbe (e [RiTnde wufers e s &)
Aafoe gen RiTaita Aol amrfe wRad @l

B. What will be the action of the gas on
(sTegBR el 3= 79
sieibe feral e 2
(i) dry litmus paper ?
& fefbelrg BlseE TS ?
&% ToTm weirea AH?

(i) moist litmus papcer ?
1 fFioaR FsreR F@5ie ?
fre feioam wisivera w1t 2

(d) Why do ionic compounds have high meclting point ?
YT (61 s [ ke
ST ISR SIS (A A 2

B17-GS (EN/AS/BN) . 126]
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(c1)

(h)

(¢)

()

Or / 933 / 5eq

Whal type of oxides are produced when non metals
combine with oxygen ? 1

il Wi ST TS (e TTE (P 2T SRS Beols 02
Y IR G WG AYE A Il SRR ST BeAw 7u 2

Name one mctal that is found in nature in frec state.

43fos Y& SR (oA 9B 4R A fFa
ugfore Y& SR 2N8q IF6 aga AN @Al |

What happens when mercuric oxide (IgQO) is heated ?
Give chemical cquation. 1

wmﬁr@ﬁaswﬁmwgom@@?ﬁﬁﬁﬁmﬁpwmﬁﬁﬁmqﬁm
WW(HQO]W&W@@W?WWqWI

You take an aqueous solution of CuSO,; (blue in colour)
in a test tube. Now dip a clean iron nail in CuSO, solution.
Observe the test tube after 20 minutes (approx) 2

GB1 AP TAre Gl CuS0,3 @B Goiy @@ (= T_) @l |
CuSO, T Ga(bre 9o ARER (F] siEs BaiR a1 23 20 fBfF e &7y
TGN 2w

1 7-GS (EN/AS/BN) [27] : Contd.
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436 I T 9 CuSO,-97 Gl Ty wael (Nt qweha) e
CuSO,-a3 Tt @=fo Jfaw @rga sroe i we | 21F
20 TG 78 /@ o —

() ~Mention the change of the nail.

TGOS @Rl AREda SrE @ | |
siErEiore 2eAl Afdaed S aral |

(@) Write a balanced chemical cquation for the reactio
iR o1 Tefere Afted far |

ffea «asfo ey wim=e e

34. Decscribe the mechanism of breathing in man. Why the ratc

breathing is much rapid in aquatic organisms Lhan (I

terrestrial organisms ? http://www.assamboard.com 441

SRR Serz-friry efdFm 3 ) wetsa 2T e 2 3R e o
& [ @fge

STLER APT-204FA 22 26 1 | wretom 2N WeT 2 2 2T
O & @ e

+.:B17-GS (EN/AS/BN) (28]
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Or / A3 / &%t

What Is photosynthesis ? What arc the principal events it
ocenrred during photosynthesis ? State how CO, is absorb
by plants ? | . - 143+1:

NIl CEFE 2 AT AR HITS QR 2 o1 7z 52 O
(Ml COy C¥ITe ¢ fe73f |

(11 TR 1 2 FANERE AT FACA RO Y W F1? Bff
TlI@ COp CFIFS T (@TCl |

35. IFind by constructlion the position of a lens and the main foc
on the principal axis OO if A|B,, A;B, are respectively th
object and the image. What type of lens is this ? '

IFind the focal length of a lens of power (-2.0) D.’

2+1+1+1=E

W I TF 00 62R_q@ A B, AyB, THRE iF AfSRTa Sag 23,
Y TR (ERA CREM GF T2 SEFS AP TR GO SEA T 49|
(FR(OR AR 62
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Draw the ray diagram necessary Lo observe virtual. erect,
diminished (not of point size) image of an object using convex
mirror ol [ocal length 15cnt.

Magnificalion prbducecl by a convex mirror is %1 If the focal

lenglh is f, find the object distance, image dislance in terms
of curvature r. 2+2+1=5

Sl zd) fefas erers wf@drE doneEtl caaifba iz @
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SG. What will you do for sustainable management of natural
renonrees ? 5

Aepleet S1vcaiE TP rEglel SRaa o [ wRale
Ul plbeet Y1410 ST LI FATS T Bl ) DA 2

Or /733 /&<

Why should we conserve forests and wildlife ? Give an example
ol people’s participation in the management of forests. )
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